4

PILOT SOCKET
ON 44.4 PCD

56.0/58.0
3 MAIN SOCKETS
ON 44.4 PCD = »l« =

o T
S 10
«© e

<

1100V

M4

X 0.75 6q,/6H

SWAGED AFTER ASSY
BONDED IN WITH "LOC TITE

" THREAD LOCKER

INTERNAL FREE

COMPONENT PARTS CEMENTED

TOGETHER WITH "LOCTITE 587"

B24 BLUE

This document forms part of the

certification package issued by

TestSafe Australia Certificate Numbers
ANZEx 13.3002-1 & IECEx TSA 13.0005X-1

VOLUME 6.6cm?3
29.0 N, 1 16:0 263 \ BLUE MAXX. (SEE NOTE:3)
W | 2 ﬁ ®
_ — M\}s\ 1 % /H/'f 7 \gf
A _‘
N ey TS e O ()
= T j%‘i CL AV — e ‘z’ = o
= Lo —uiﬁ Z PN v @
; o J_J /—‘
& 3 N < (19)
(=] () € | 3‘/
S al urin @
R e e ;
T = m 4
| UK N | |
J — l%%\\%\l i 275
—
RSN N e e e Ca
[
i 1
- C 11|
9.5 —= a4 15.5 NOM. (12.5 MIN
39.0 FLAMEPATH LENGTH
29.0 - 31.5 NOM. (25.0 MIN. WITH A MAX 0.4 GAP)
MIN. FLAMEPATH LENGTH @@ @ M5 X 0.8 — 6q/6H
WITH A MAX 0.5 GAP) 4.0 CLEARANCE AT CAP CLEARANCE HOLE
M10 X 1.5 — 6g/6H BOTTOM OF BOLT HOLE 25.5/5.68 COUNTER
@@ @ @ CAP CLEARANCE HOLE BORE 9.0 X 6.5 DEEP
211.0/11.27
SECTION _A—A
32 1 AH117117 M5x10 BUTTON HD CAP SCREW ST. STEEL
31 1 3340 INTERIOR MOULDING NEOPRENE
;g § 2%21?123;; CO}\:‘/I\/LC;O?)P;E‘:C (COPPER) C14700 OR (SJTWWOS(J-[)EESR C10100 TO AS/NZS
1567-1997 SILVER PL. TO AS 1856-2004 CuAq 08
M AR K | N G D E TA| I_S ig ; AH§227868 e :;A\ZN1 %:\MSEKJEHD — (COPPER) C14700 OR (SJTWWOS(JT()EESR C10100 TO AS/NZS
1567-1997 SILVER PL. TO AS 1856-2004 CuAq 08
le-P- ig ; :\:ﬂioﬁg M10 X 40 SK?‘T—JEGSsTS ;(?;EW (1S04762) S;“TSR‘TLEEEL
24 1 40008 PHASE CONDITION BODY CASTING HIGH TENS\LE’ERASS — NOTE 7
AT3#4R@ C86500 TO AS 1565-1996
3004 . o oo o o
# VOI—TS 6_660\/ 21 1 AH002987 1/4” X 7/8" SELLOCK PIN STEEL-ZINC PL.
1=1100V T DraT T
@ NOSE C ONE S: ST, STEEI_ 18 1 3103 INDICATOR LIGHT PANEL —
:':E)E:S | T’\ébA 13.0005x 1; 1 Aé?ggi]? \NSPECT\ONRQ%’;((;)WPL;ETTEA\N\NC RING c385;ZE50C§£;T§§SEWR5/;§S—1997
X . 128 1 3173 RTU CAP CASTING (OPT\ONAL) HIGH TENSILE BRASS — NOTE 7
ANZEX ]33002 C86500 T0 _AS 1565-1996
TYPE A 12A 1 3197-1 CAP CASTING H‘GCHBJSES‘[JS‘\}EO EARSAfgegi:nggTsE 7
S.O XXXXX— XX 11 1 — RTU 1M(?DULIE (OF:HONAL _’
CONFIGURATION WARNING o yry w— T ST
DO NOT SEPARATE WHEN ENERGIZED T i ST SN TS
N O TE S 6 1 45761 EARTH LEAD 6mm?® WITH PILOT DIODE PVC INSUL. CABLE / IN4007 DIODE
e —— 5 1 3589-1 PILOT THIMBLE (COPPER) C14700 OR C11000 OR C10100
4 1 AH009834 10-24 UNC X 11/4" SKT HD SCREW 048 SNT?SS'ESSL771997
1. MINIMUM WALL THICKNESS 3.0mm UNLESS OTHERWISE SPECIFIED. B 3136-2 FILOT SOCKET (COPPER) C14700 OR CT1000 OR C10100 10 AS/NZS
2. IN CASE OF HOLES FOR SCREWS, THE REMAINING THICKNESS OF THE FLAMEPROOF T o TS SR 7o) SR P T 0 1000 2004 Luda 09
ENCLOSURE WILL BE AT LEAST ONE-THIRD OF THE NOMINAL DIAMETER OF THE SCREW I 33258 BODY ChsThe ST STEEL 503 ML GRADE
WITH A MINIMUM OF 3.0mm. £86500 TO_AS 1565-1996
3. ITEM No. 17 COATED BOTH SIDES APPROX 12.0mm FROM OUTER EDGE (WITH 10.0mm et AT ES DESCR‘P;‘::S — WA
MIN.) BEFORE ASSEMBLY, ITEMS CLAMPED TOGETHER DURING ASSEMBLY. =
4. THE SPECIFICATIONS, DIMENSIONS AND RATINGS COMPLY WITH AS/NZS 1299 & Electrical
ELECTRICAL EQUIPMENT FOR MINES AND QUARRIES. g Products IV”NTO INDUSTRIAL PRODUCTS
5. SPECIAL FASTENERS COMPLY WITH ISO 262 WITH A TOLERANCE FIT 6g/6H AND o

THIS DRAWING REMAINS

THE PROPERTY OF MINTO
INDUSTRIAL PRODUCTS AND
MUST NOT BE LENT OR COPIED.

PART No.
AT314R / AT364R
AT314RS / AT364RS

@

DO NOT SCALE DRAWING.
DIMENSIONS IN MILLIMETRES.

THREAD ENGAGEMENT IS > THE MAJOR DIAMETER AND THE CLEARANCE HOLE IS

NOT > H13 (ISO 286-2).

6. ALL MACHINED FLAMEPATH SURFACES AVERAGE Ro DOES NOT EXCEED 6.3um (ISO 468).
7. MATERIAL HIGH TENSILE BRASS C86500 TO AS 1565-1996 WITH A MINIMUM TENSILE

STRENGTH 450 MPa AND MINIMUM 10% ELONGATION.
8. MINIMUM TORQUE OF 10.0 Nm FOR CAP SCREWS.
9

MINIMUM PROPERTY CLASS FOR STAINLESS STEEL FASTNERS IS A*-70.

10. MINIMUM PROPERTY CLASS FOR MILD STEEL FASTNERS IS 4.6.

A division of CMI Operations Pty Ltd

CHANG 01/12) _
o |92~ |C

U

REDRAWN ON CAD NO

REVISION

PSRN 300A 660/1100V RESTRAINED
PHASE CONDITION INDIC ATOR

GENERAL TOLERANCE +0.5
UNLESS OTHERWISE SPECIFIED
MATERIAL |
— SEE TABLE SCALE NTS DATE 15/12/95
COLOUR CODED AS PER
AS 2700 AN DMC s — /2P

DRAWING No.

AS F-183

1

2 3

L

5

6



michaelp.CMI
MPP


31.5 NOM. (25.0 MIN.

FLAMEPATH LENGTH
WITH A MAX 0.5 GAP)

WITH A MAX 0.4 GAP)

1.5 — 6g,/6H

C AP C LEARANCE HOLE

4.0 CLEARANCE AT
BOTTOM OF BOLT HOLE

M5 X 0.8 — 6g,/6H
CAP CLEARANCE HOLE
5.5/5.68 COUNTER

BORE 29.0 X 6.5 DEEP

1 | 2 | 3 N 4 | 5 6
(1aX8) »E (14X9)
- —— M4 X 0.7 — 6q/6H
87.0 K 16.0 SWAGED AFTER ASSY INTERNAL FREE COMPONENT PARTS CEMENTED
BONDED IN WITH "LOCTITE [ VOLUME 6.6¢m? TOGETHER WITH "LOCTITE 587"
-~ 600 fA?NO - 16.0 263" THREADLOCKE\ BLUE MAXX. (SEE NOTE 3)
&/ ilie= 1
- e NN
g h _'_r\!'\ X\ | _
(<o) —
Lﬁ— T T T T P
S - o T 620 —=
- 5 . B e~ =250
S o = T
° 3§ - —
T SNy ~ 150 |
| e
3 MAIN SOCKETS | £ yﬂ _ BN\I
ON 44.4 PCD / VAL, y i .
? L [l | _]
- 9.5 27.0 -—J/ " |
: i 5
ON 44.4 PCD o =600 =T MIN. T

This document forms p
certification package is

art of the
sued by

TestSafe Australia Certificate Numbers

ANZEXx 13.3002-1 & IECEx TSA 13.0005X-1

THIS DRAWING REMAINS
THE PROPERTY OF MINTO
INDUSTRIAL PRODUCTS AND

©-c

7
:

B 00 © ©® ©@ W
SECTION A
33 3960 INTERIOR MOULDING DMC_6804G78B
32 Al019023 O'RING 1D 82.22 X SECT 2.62 NITRILE
M A R K | N G D E TAl I_S ;8 A:éo;f;ﬁ CONTAPC\JOTSOS%EEJETSPR‘NG (COPPER) C14700 OR (SJI‘WOSOTOE%R €10100 TO AS/NZS
1567-1997 SILVER PL. TO AS 1856—2004 CuAg 08
MLP. - g om0t U6 11/ S D S SR
AT334S@ gé ? AH?S;ZB7 - XP\EOTB T:;AL&?(E:K - (COPPER) C14700 OSRTECEWLW_OZAECO:L&HOWUO TO AS/NZS
300A 25 1 Al019046 O'RING BS 144 155%%3&97
3300\/ 24 3 AH117113 M10 x 40 SKT HD SET SCREW (IS04762) ST. STEEL
23 1 40008 PHASE CONDITION BODY CASTING HIGH TENSILE BRASS — NOTE 7
@ NOSE CONE S=ST. STEEL - 1 — a— 86500 _T0 Aspvrézs 1565-1996
B I_AN K = B RONZE 21 1 F—AX000400 HANDLE NYLON
20 2 AH009251 3/168" X 5/8" X 18 WASHER, STEEL-ZINC PL.
|P66 19 1 AHT17117 M5x10 BUTTON HD CAP SCREW ST. ?TEEL
Ex d 1 Mb — o o Toh WROOw TSR
|AENCZI-:I-ZXX T183A32)8§OOSX T EEIE S e o e S ST
. 14 1 AX004076 RATING PLATE BRASS
TYPE A 13 1 3198-1 INSPECTION WINDOW RETAINING RING 035582E§OC:;U§§S512235_1997
S.O XXXXX— XX 128 1 3173 RTU CAP CASTING (OPTIONAL) FREE CUTTING BRASS
38500 TO AS/NZS 1567-1997
WARNING 28 1 31971 PHASE CONDITION INDIC ATOR C AP HIGH TENSILE BRASS — NOTE 7
DO _NOT SEPARATE WHEN ENERGIZED T PYEEEE TRSTEATETR B e T
10 1 AH151019 M4 NUT STEEL-ZINC PL.
9 1 AH009273 1/4" X 1/2" X 18 WASHER STEEL-ZINC PL.
3 1 A;;?ggys EARTH ML‘;AE Zﬁ?ﬂi:{ ;\2Hsgﬁg‘: DIODE. PVC _INSUL. CABBRLQSS IN4007 DIODE
N O TE S 6 3 3962 MAIN THIMBLE (COPPER) C14700 OR C11000 OR C10100 TO AS/NZS
———— 1567-1997 SILVER PL. TO AS 1856—2004 CuAg 08
1. MINIMUM WALL THICKNESS 3.0 UNLESS OTHERWISE SPECIFIED : 3 i SR T St aiiica
. .umm . 3 3 3961 MAIN SOCKET (COPPER) C14700 OR C11000 OR C10100 TO AS/NZS
2. IN CASE OF HOLES FOR SCREWS, THE REMAINING THICKNESS OF THE FLAMEPROOF > - T TS 15671697 SINER PL_10 AS 1656-200¢ Cubo 08
ENCLOSURE WILL BE AT LEAST ONE-THIRD OF THE NOMINAL DIAMETER OF THE SCREW 5 i 330155 BODY CASTNG ST_STEEL 303 NN, GRADE
WITH A MINIMUM OF 3.0mm. e e e CoBe00 T0 xS 7S 15651900
3. ITEM No. 17 COATED BOTH SIDES APPROX 12.0mm FROM OUTER EDGE (WITH 10.0mm e EART NOVBER DESCR‘:”?NLV‘ MATERAL
MIN.) BEFORE ASSEMBLY, ITEMS CLAMPED TOGETHER DURING ASSEMBLY. - -
4. THE SPECIFICATIONS, DIMENSIONS AND RATINGS COMPLY WITH AS/NZS 1299 2 Electrical
ELECTRICAL EQUIPMENT FOR MINES AND QUARRIES. S P
g roducts | MINTO INDUSTRIAL PRODUCTS
5. SPECIAL FASTENERS COMPLY WITH ISO 262 WITH A TOLERANCE FIT 6g/6H AND ™

THREAD ENGAGEMENT IS > THE MAJOR DIAMETER AND THE CLEARANCE HOLE IS

A division of CMI Operations Pty Ltd

NOT > H13 (ISO 286-2).
6. ALL MACHINED FLAMEPATH SURFACES AVERAGE Ro DOES NOT EXCEED 6.3um (ISO 468).
7. MATERIAL HIGH TENSILE BRASS C86500 TO AS 1565-1996 WITH A MINIMUM TENSILE

ON CAD NO CHANG 01/06| _
ON CAD NO CHANGE 'G5, B

GENERAL TOLERANCE £0.5
UNLESS OTHERWISE SPECIFIED

PESCRPTION 200 A 3 3K\ RESTRAINED

MATERIAL

PHASE CONDITION INDICATOR

MUST NOT BE LENT OR COPIED. STRENGTH 450 MPa AND MINIMUM 10% ELONGATION. % SEE TABLE
8. MINIMUM TORQUE OF 10.0 Nm FOR CAP SCREWS. % SCALE NTS |DATE 20/06/95 DRAWING No.
PART No. DO NOT SCALE DRAWING. | 9. MINIMUM PROPERTY CLASS FOR STAINLESS STEEL FASTNERS IS A*-70. = [FINISH R13 RED AS PER CHECKED AB F
AT334S / AT334SS | DIMENSIONS IN MILLIMETRES. | 10. MINIMUM PROPERTY CLASS FOR MILD STEEL FASTNERS IS 4.6. & AS 2700 PRAN DMC Fpesones— 77— -273

1

2 3

L

6



michaelp.CMI
MPP


3 MAIN SOCKETS

ON 44.4 PCD

1 | 2 | 3 () 4 | 5 6
56.0,/58.0 M4 X 0.75 — 6q/6H INTERNAL FREE
-~ 87.0 16.0 SAWGED AFTER ASSY VOLUME 6.6cm@ COMPONENT PARTS CEMENTED
BONDED WITH "LOCTITE TOGETHER WITH "LOCTITE 587"
= 29.0 390 o160 263" THREADLOCKER BLUE MAXX. (SEE NOTE 3)
9., ' ‘
|
S ol O O

Ab L ' = 5
= o~

~ o £8 !

_Q& N
— (@2}

s 2 3

N

[ / |
K \
T
PILOT SOCKET 0 L / \ i
ON 44.4 PCD ® — 9.5 19.0 MIN. { / 15.5 NOM. (12.5 MIN
./ r FLAMEPATH LENGTH
ey 515 NOW. (25.0 M. / 00 WTH A MAX 0.4 GAP)

1100V

B24 BLUE/N?24 SILVER
(N24 SILVER MIN. 25.0mm)

660V

X15 ORANGE/N24 SILVER
(N24 SILVER MIN. 25.0mm)

CONFIGURATION

This document forms part of the
certification package issued by
TestSafe Australia Certificate Numbers

ANZEXx 13.3002-1 & IECEx TSA 13.0005X-1

THIS DRAWING REMAINS

THE PROPERTY OF MINTO
INDUSTRIAL PRODUCTS AND
MUST NOT BE LENT OR COPIED.

PART No.

ATL1LR / ATLILRS
ATL6LR / ATLOLRS

(ORS]

DO NOT SCALE DRAWING.
DIMENSIONS IN MILLIMETRES.

NOTES

1. MINIMUM WALL THICKNESS 3.0mm UNLESS OTHERWISE SPECIFIED.

2.

o

6.
7

8.
9

FLAMEPATH LENGTH

WITH A MAX 0.5 GAP)

IN CASE OF HOLES FOR SCREWS, THE REMAINING THICKNESS OF THE FLAMEPROOF

ENCLOSURE WILL BE AT LEAST ONE-THIRD OF THE NOMINAL DIAMETER OF THE SCREW
WITH A MINIMUM OF 3.0mm.
ITEM No. 16 COATED BOTH SIDES APPROX 12.0mm FROM OUTER EDGE (WITH 10.0mm

MIN.) BEFORE ASSEMBLY, ITEMS CLAMPED TOGETHER DURING ASSEMBLY.
THE SPECIFICATIONS, DIMENSIONS AND RATINGS COMPLY WITH AS/NZS 1299

ELECTRICAL EQUIPMENT FOR MINES AND QUARRIES.

SPECIAL FASTENERS COMPLY WITH ISO 262 WITH A TOLERANCE FIT 6g/6H AND
THREAD ENGAGEMENT IS > THE MAJOR DIAMETER AND THE CLEARANCE HOLE IS

NOT > H13 (IS0 286-2).

ALL MACHINED FLAMEPATH SURFACES AVERAGE Ro DOES NOT EXCEED 6.3um (ISO 468).
. MATERIAL HIGH TENSILE BRASS C86500 TO AS 1565-1996 WITH A MINIMUM TENSILE

STRENGTH 450 MPa AND
MINIMUM TORQUE OF 10.0

MINIMUM PROPERTY CLASS FOR STAINLESS STEEL FASTNERS IS A*-70.

MINIMUM 10% ELONGATION.
Nm FOR CAP SCREWS.

10. MINIMUM PROPERTY CLASS FOR MILD STEEL FASTNERS IS 4.6.

M10 X 1.5 — 6g/6H

CAP CLEARANCE HOLE

4.0 CLEARANCE AT
BOTTOM OF BOLT HOLE

M5 X 0.8 — 6g/6H

CAP CLEARANCE HOLE

%5.5/5.68 COUNTER

BORE 29.0 X 6.5 DEEP

@ 911.0/11.27
31 1 AR7117 M5x10 BUTTON HD CAP SCREW ST, STEEL
30 1 3340 INTERIOR MOULDING NEOPRENE
29 1 AH201405 CONTACT SOCKET SPRING ST. STEEL
28 1 3138-3 PILOT SOCKET (COPPER) C14700 OR C11000 OR C10100 TO AS/NZS 1567-1997
M ARK | NG DE TA| LS SILVER PL. TO AS 1856-2004 CuAg 08
27 1 AHO09834 10-24 UNC X 11/4” SKT HD SCREW ST. STEEL
26 1 35891 PILOT THIMBLE COPPER) C14700 OR C11000 OR C10100 TO AS/NZS 15671997
25 1 AI019046 O'RING BS 144 NITRILE
M.1.P. 24 3 AHIT7113 MI0 X 40 SKT HD SET SCREW (1504762 ST, STEEL
AT4#4R@ 23 1 40008 PHASE CONDITION BODY CASTING HIGH TENSILE BRASS — NOTE 7
C86500 TO AS 1565-1996
425A 22 1 3115 SPACER PVC
21 1 F—AX000400 HANDLE NYLON
# VOLTS 6=660V 20 ! AH002987 1/4” X 7/8" SELLOCK PIN STEEL-ZINC PL.
1=1100V 19 2 AH009251 3/16" X 5/8" X 18 WASHER STEEL-ZINC PL.
= 18 2 AH151033 M5 X 16 SKT HD CAP SCREW ST. STEEL
@ NOSE CONE S=ST. STEEL 17 1 3103 INDICATOR_LIGHT PANEL -
16 1 3105 INSPECTION WINDOW LEXAN MR10
BLANK=BRONZE 15 4 AH151015 M5 X 40 SKT HD CAP SCREW (1S04762 ST. STEEL
P66 14 2 AH009788 3/16" X No.4 U-DRIVE SCREW STEEL-ZINC PL.
13 1 AX004076 RATING PLATE BRASS
Ex d | Mb 12 1 3198-1 INSPECTION WINDOW RETAINING RING FREE CUTTING BRASS
C38500 TO AS/NZS 1567-1997
I[ECEx TSA 13.0005X 118 1 3173 RTU CAP CASTING (OPTIONAL) FREE CUTTING BRASS
38500 TO AS/NZS 15671997
ANZEx 13.3002 T1A 1 31971 CAP CASTING HIGH TENSILE BRASS — NOTE 7
TYPE A 86500 T0 AS 1565-1996
10 2 AH009380 3/16" STAR WASHER STEEL-ZINC PL.
S.0 Xxxxx=xx 9 1 AH151019 M4 NUT STEEL-ZINC PL.
WARNING 8 1 AH009273 1/4" X 1/2" X 18 WASHER STEEL-ZINC PL.
7 1 AH151016 M4 X 20 CH HD SCREW BRASS
DO NOT SEPARATE WHEN ENERGIZED 8 1 4576-1 EARTH LEAD 6mm* WITH PILOT DIODE PVC INSUL. CABLE / IN4007 DIODE
5 3 3347 MAIN THIMBLE (COPPER) C14700 OR C11000 OR C10100 TO AS/NZS 1567-1997
SILVER PL_TO AS 1856-2004 CuAq 08
4 3 AH009868 1/4” UNC X 21/4" SKT HD SCREW ST. STEEL
201-300-1 MAIN SOCKET (COPPER) C14700 OR C11000 OR C10100 TO AS/NZS 1567-1997
SILVER PL_TO AS 1856-2004 CuAq 08
2 6 AH201363 CONTACT SOCKET SPRING ST. STEEL
18 1 334255 BODY CASTING ST STEEL 303 MIN. GRADE
A 1 33428 BODY CASTING HIGH TENSILE BRASS — NOTE 7
C86500 TO AS 1565-1996
TTEM | ary PART NUMBER DESCRIPTION MATERIAL
Parts List
Electrical
Products | MINTO INDUSTRIAL PRODUCTS

A division of CMI Operations Pty Ltd

n
v

A0 N

REDRAWN ON €

e |15/01] _
s |9~ |B
DATE | ZONE| REV

GENERAL TOLERANCE £0.5
UNLESS OTHERWISE SPECIFIED

MATERIAL

SEE TABLE

DESCRIPTON /05 A 660/1100\/ RESTRAINED

PHASE CONDITION INDIC ATOR

FINISH

REVISION

COLOUR CODING AS PER

SCALE N TS

AT 16,/01/96

DRAWING No.

AS 2700

ASl F-306

1 |

2

3

L

5

CHECKED
oram DMC APF|’ROVED / 2/7

6



michaelp.CMI
MPP


This document forms part of the certification
package issued by TestSafe Australia
Certificate Numbers IECEx TSA 13.0005X-3
and ANZEx 13.3002-3



56.0/58.0

AY

PILOT SOCKET
ON 44.4 PCD

3 MAIN SOCKETS
ON 44.4 PCD

4XO7—6/6H

This document forms part of the
certification package issued by
TestSafe Australia Certificate Numbers

ANZEXx 13.3002-1 & IECEx TSA 13.0005X-1

THIS DRAWING REMAINS
THE PROPERTY OF MINTO
INDUSTRIAL PRODUCTS AND

MUST NOT BE LENT OR COPIED.

PART No.
ATL3LS / ATAL3LSS

COMPONENT PARTS CEMENTED

1

- INTERNAL FREE
80 60 SWAGED AFTER ASSY VOLUME 6.6cm? [OGETHER W LOCTTE S8
%, - 0.0 —— - &?NO 16.0 263" THREADLOQRER '
o |\ %
i T7F \
O = vl 0479 SO e/ () e © ®) (O
& SN ‘ ’ WA N =
S Lo | — V_J_I & @
- — ey
S 3 = [ all|® (19)
=R izg{[C
=8 s
f* ST ™
M
< r4 1=
J =365 —»] \ Y_L?_t .
, A DNI | A 7 J\@Q
} O & A vy
NS - 3 . B
. B |
2 9.5 —= 27.0 - T I 15.5 NOM. (12.5 MIN.
FLAMEPATH LENGTH
500 5.0 WITH A MAX 0.4 GAP)
pse= = ' o 4.0 CLEARANCE AT o et e
o X 15 - 6g/6H  BOTIOM OF BOLT HOLE
31.5 NOM. (25.0 MIN. AP e LEnRANCE Lol 5.5/5.68 COUNTER
FLAMEPATH LENGTH o110/l BORE ©9.0 X 6.5 DEEP
A WITH A MAX 0.5 GAP 0/1. 5] AT W5x10 BUTION HD CAP SCREW ST STEEL
1 TERIOR EOPRENE
i; 1 Alg1996(?25 O'RINGIN\DE Slg) QZMSJéEDICNTG 2.62 NN(\)WILEEN
3 1 AH201405 CONTACT SOCKET SPRING ST. STEEL
@ @ % @ @ 0 3138-2 PILOT SOCKET (COPPER) C14700 OR C11000 OR C10100 10 AS/NZS
1567-1997
29 1 Al019030 O'RING ID 6.07 X SECT 1.78 ST AZ\TISI\E???OO“ S
28 1 AH009834 10-24 UNC X 11/4” SKT HD SCREW ST. STEEL
27 2 AH002987 1/4" X 7/8" SELLOCK PIN STEEL-ZINC PL.
M AR K | N G D ETA| |_S S EC ‘|—| O N A _ A 26 1 3984 P.LOI THIMBLE (COPPER) C14700 OR 1%217070:)%;);2 C10100 TO AS/NZS
25 1 Al019046 O'RING BS 144 NITRILE
M.1.P. 2% | 3 AHTI7113 M10 X 40 SKT HD SFT SCREW (1504762) ST. STEEL
1 PHA! T ASTI T £ BRA - TE 7
AT434S@ 23 40008 HASE CONDITION BODY CASTING HIGCH%;SIS\L]O SAS ?265711%89;
425A o Y Tt o
3300V 20 2 AH009251 3/16" X 5/8" X 18 WASHER STEEL-ZINC P,
@ NOSE CONE S=ST. STEEL S e GO ot P .
P56 BLANK=BRONZE T P 001 (o SCREw 50077 S
Ev d | Mb T yrTie ST — .
X _|_ A 1 13 1 3198-1 INSPEC TION WINDOW RETAINING RING FREE CUTTING BRASS
|AENCZEEX)( 1533030)20005X 128 1 3173 RTU CAP CASTING (OPTIONAL) zzzﬁzg% C:ZJ]EEIG:}Z%ESE::
TYPE A 12A 1 3197-1 CAP CASTING HIGCl-iagg(;lé\L]EO 3:??;;,’:3;; 7
S.0 xxxxx—xx T2 AHO09380 /16" STAR WASHER STEEL-ZING PL
WARNING 1 00775 TS ST
DO NOT SEPARATE WHEN ENERG'ZED ? : A:‘SI;;?‘]B :ARTHM:A)I() 260 ct‘ x\[;HS(;’:iE)v: DIODE PVC INSUL CABBT.éSS IN4007 DIODE
3 3 3062 AN THINBLE (COPPER) cu;oo 0% C11000 O‘R c1010(; 10 AS/NZS
1567-1997
N O TE S 5 3 AH009857 1/4" UNC X 1/2" SKT HD SCREW S é? 158112:2004 S
- 4 3 Al019032 Q'RING ID 18.77 X SECT 1.78 NITRILE
3 3 4245 MAIN SOCKET (COPPER) C14700 OR C11000 OR C10100 TO AS/NZS
1. MINIMUM WALL THICKNESS 3.0mm UNLESS OTHERWISE SPECIFIED. T
2. IN CASE OF HOLES FOR SCREWS, THE REMAINING THICKNESS OF THE FLAMEPROOF T [ ¢ AH201432 CONTACT SOCKET SPRING ST STeEL =
ENCLOSURE WILL BE AT LEAST ONE-THIRD OF THE NOMINAL DIAMETER OF THE SCREW T =y BO0Y CASTG T TENSIE SRR~ NOTE 7
WITH A MINIMUM OF 3.0mm. 86500 10 _AS 1565-1996
3. ITEM No. 17 COATED BOTH SIDES APPROX 12.0mm FROM OUTER EDGE (WITH 10.0mm S S e — S
MIN.) BEFORE ASSEMBLY, ITEMS CLAMPED TOGETHER DURING ASSEMBLY. — -
4. THE SPECIFICATIONS, DIMENSIONS AND RATINGS COMPLY WITH AS/NZS 1299 L | L /OO0 <L ] & Electrical
ELECTRICAL EQUIPMENT FOR MINES AND QUARRIES. | | N g
5. SECIL FASTENERS CONPLY T 190 260 I % TOLERMICE AT /6 MO Products | MINTO INDUSTRIAL PRODUCTS
THREAD ENGAGEMENT IS2 THE MAJOR DIAMETER AND THE CLEARANCE HOLE IS =° | =5 |89 3% 9% | 2% | =[A division of CMI Operations Pty Ltd
NOT > H13 (IS0 286-2). _ o8 GENERAL TOLERANCE +0.5 DESCRIPTION
@ 6 6. ALL MACHINED FLAMEPATH SURFACES AVERAGE Re DOES NOT EXCEED 6.3um (IS0 468). g, |8 |8 |8 |28 UNLESS OTHERWISE SPECIEIED 425A 3300V RESTRAINED
— 7. MATERIAL HIGH TENSILE BRASS C86500 TO AS 1565-1996 WITH A MINIMUM TENSILE e |E 212 |2 |Es ATERIAL
STRENGTH 450 MPa AND MINIMUM 10% ELONGATION. =N g |Eg| 8| 22| & SEE TABLE PHASE CONDITION INDIC ATOR
8. MINIMUM TORQUE OF 10.0 Nm FOR CAP SCREWS. SENE £ES|E2| 23 B2 | & SCALE NTS [DATE 01/03/()2 AB DRAWING No.
DO NOT SCALE DRAWING. | 9. MINIMUM PROPERTY CLASS FOR STAINLESS STEEL FASTNERS IS A*-70. s2 |z F=(5=| 32 | 28 = [FNSH R13 RED/N24 SLVER e
DIMENSIONS IN MILLIMETRES. | 10, MINMUM PROPERTY CLASS FOR MILD STEEL FASTNERS IS 4.. 5% = St |85 88 | 38| o (24 SLVER M. 25.0mm) RN DMC o /P — F-558
4 6

2

| 5



michaelp.CMI
MPP


This document forms part of the certification
package issued by TestSafe Australia
Certificate Numbers IECEx TSA 13.0005X-3 and ANZEx 13.3002-3



O Sydney 1820 Railway Road Meadowbank NSw 2114  OBrishane 4854 Zillmere Road Zillmere QLD 4034

E|ectrica| Postal Address Locked Bag M3 Meadowbank NSW 2114 Postal Address PO Box 642 Virginia QLD 4014

PrOducts Telephone (02) 9807 5155 Facsimile: (02) 9308 2033 Telephone: (07) 38632 0745 Facsimile: (0728632 0795
QMelbourne 35 Dissik Street Cheltenham VIC 3192 ORockhampton Shop2, 76 Hollingsworth St

.. . Telephone: (03) 9532 1233 Facsimile: (03) SEB3 3502 Marth Rockh ti LD 4701
A division of CMI Operations Pty Ltd prone (G2) o2 orth Rocknampten
ABN 87 088 279 270 O Perth 26 Division Street Welshpool WA 6106 Postal Address: PO Box 1124 North Rockhampton QLD 47071
Telephone: (08) 9358 1788 Facsimile: (08) 9268 17332 Telephone: (07) 4921 097 & Facsimile: (07) 4921 0281

For all account enquiries Phone (02) 8273 1320 Fax (02) 9208 4977

Termination and Maintenance Instructions for 300/425 AMP 660/1100/3300 VOLT
Restrained Range

The equipment is certified IECEx TSA 13.0005X and ANZEx 13.3002 (maximum operating temperature 150°C) and is designed to AS/NZS1299,
IEC 60079-0 & IEC 60079-1.

It is recommended that the equipment is overhauled at intervals that do not exceed the requirements of AS/NZS2290.1.

Maintain to the requirements of AS/NZS3800 & AS/NZS1747 by suitably competent persons.

Installation
e  Confirm components suitable for application e.g. thimbles and grommets suitable for the conductors and cable.
e  Plug fitting cable preparation.
1. Slide the gland cap, neoprene cone and plug body along the cable.
2. Prepare the cable to the dimensions given in the strip back table (below).
3. Crimp or solder the thimbles to the phase, pilot and earth cores.

Strip Back Dimensions (mm)
A (Phase) B (Earth) C (Pilot)
AF314R3 /AF364R3 / AF414R3 / AF464R3 110 155 155
AF314R4 /AF364R4 / AF414R4 / AF464R4 130 180 120
AF334S3 / AF434S3 / AF316R3 / AF336R3
/ AF416R3 / AF436R3 128 120 130
AF334S4 / AF434S4 / AF316R4 / AF336R4
/ AF416R4 / AF436R4 158 150 100
AF314S / AF364S 145 165 120

NB. Cables with semi conductive phase screening shall have the semi conductive screen removed back to the outer sheath.

e  Plug fitting
4. Fit the conductors to the appropriate location securing in place with screw through socket where appropriate
5. Assemble the plug, ensuring the interior rotation conforms to AS/NZS1299
6. Then fit dust cap (F-264L). Care should be taken not to damage the earth sleeve flamepath.
7.  Slide the neoprene cone into position and bolt the gland cap firmly to the body.
Minimum torque of gland cap and nuts screws is 25.0Nm.
Armoured Gland threaded studs are to be fixed into position using Loctite thread locker.
8.  Test as per the requirements of AS/NZS1747.

e  Connection of Protective Earthing Conductors
e  This range of plugs & receptacles has facility for earthing conductors up to 95 mm?.
e [t is the responsibility of the installer to determine and fit the correct sized earth conductors.

NB. Consideration should be given to using a strain relief anchor on the cable to prevent the cable from being pulled from the back of the
plug, if cable is subjected to tension.

e Receptacle fitting

a. For Receptacle mounting dimensions refer to AS/NZS1299. The flange flamepath used to assemble the receptacle
and Exd enclosure with minimum width 12.5mm and maximum gap 0.4mm.

b. Terminate conductors as per point 3 above.

c. Fit the conductors to the appropriate location securing in place the phase thimble with screw provided
through the main pin & securing in place the pilot thimble with the threaded pilot pin.

d. Attach to enclosure via special fasteners.
The special fasteners and/or nuts shall be of minimum grade 4.6 (yield stress 240MPa)

This brochure is distributed with the understanding that the authors and editors are not responsible for the results of any actions taken on the basis of the information in this work, or any errors or omission. Further, Minto
Industrial Products is not engaged in rendering professional services. Minto Industrial Products expressly disclaims all and any liability to any person in respect of anything and of the consequences of anything done or
omitted to be done by any such person in reliance whether whole or partial of the whole or any part of the contents of this publication. All rights reserved. No part of this work covered by copyright may be reproduced or
copied in any form or by any means without the written permission of Minto Industrial Products.

(309Men,
+ :

e
ALY cables @HMTLN\ID CABLES
Global-Mark com.au™

TRP-2 300/425A Restrained Termination and Maintenance instruction

RevH 29/08/2018
) ino " OAFLEX CABLES

Gue},}}‘
&
;uuso




O Sydney 1820 Railway Road Meadowbank NSw 2114  OBrishane 4854 Zillmere Road Zillmere QLD 4034
E|ectrica| Postal Address Locked Bag M3 Meadowbank NSW 2114 Postal Address PO Box 642 Virginia QLD 4014
PFOdUCtS Telephone (02) 9807 5155 Facsimile: (02) 9308 2033 Telephone: (07) 38632 0745 Facsimile: (0728632 0795
QMelbourne 35 Dissik Street Cheltenham VIC 3192 ORockhampton Shop2, 76 Hollingsworth St
Telephone: (03) 9532 1233 Facsimile {03) 2553 3502 Marth Rockhampton QLD 47071

A division of CMI Operations Pty Ltd

ABN 87 088 270 270 O Perth 25 Division Street Welshpool Wa 8108 Postal Address: PO Box 1124 North Rockhamptan QLD 4701

Telephone: (08) 9358 1788 Facsimile: (08) 9268 17332 Telephone: (07) 4921 097 & Facsimile: (07) 4921 0281
For all account enquiries Phone (02) 8273 1320 Fax (02) 9208 4977

Use
e  [solate power before connecting or disconnecting.
Assembly
e Ensure sockets are clean and serviceable.
e  Correct pin alignment.
e Insert plug using receptacle operating mechanism.
NB. For quick release mechanism, ensure the locking button is fully home.
Disassembly
e  To remove plug from receptacle utilise the operating mechanism.
NB. For quick release, lift the locking button first.
e  Fit dust cover to plug and receptacle.
Maintenance

e  Inspection shall include cleanliness and compliance with certification documentation.
®  Check as per AS/NZS2290.1

Overhaul and Repair
e To be carried out by suitable workshop.

Conditions of use
e  Some flameproof joint (flamepath) have dimensions that are different than the values given in tablel of IEC60079.1. Refer to the
manufacture’s drawings for details._
e  The special fasteners used to assemble the plug and gland shall be minimum grade 4.6 (yield stress 240MPa) or for stainless steel
minimum grade A*-70 (Yield stress 450MPa).
e Ambient Operating temperature range -20°C to +40°C and average temperature over 24 hours is not to exceed 35°C

Mounting Details

215.0 *
165.0
P 218
S S| —094.0 MAX.
i v
S ©
g 3 /
1]
Fan) 71
., F

* Dimensions shown is the Enclosure Machining Area.
Untoleranced dimensions +0.25

NB. Receptacle and Gland Adaptor mounting fasteners are to comply with AS/NZS 60079.0 and AS/NZS 60079.1

This brochure is distributed with the understanding that the authors and editors are not responsible for the results of any actions taken on the basis of the information in this work, or any errors or omission. Further, Minto
Industrial Products is not engaged in rendering professional services. Minto Industrial Products expressly disclaims all and any liability to any person in respect of anything and of the consequences of anything done or
omitted to be done by any such person in reliance whether whole or partial of the whole or any part of the contents of this publication. All rights reserved. No part of this work covered by copyright may be reproduced or
copied in any form or by any means without the written permission of Minto Industrial Products.

TRP-2 300/425A Restrained Termination and Maintenance instruction Pty Lo,
RevH 29/08/2018 o) o
3 2
] =
&s.. PE cables HARTLAND CABLES
N minto ct AFLEX CABLES *oaue
——

Global-Mark.com.au®



	F-183 REV. F. 300A 660-1100V Restrained Phase indicator Plug
	F-273 REV. D. 300A 3300V Restrained Phase Condition Indicator Plug 
	F-306 REV.E. 425A 660-1100V Restrained Phase Condition Indicator Plug
	F-423 REV.C. 300A 1100-3300V 6 Pin Restrained Phase Condition Indicator Plug
	F-558 REV .F. 425A 3300V Restrained Phase Condition Indicator Plug  
	F-560 REV.B. 425A 1100-3300V 6 Pin Restrained Phase Condition Indicator Plug 
	TRP-2 Rev C (Termination & Installation Instructions) 20150630

